Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios
Varaosat Reserveonderdelen Piece detachees
Reservedeler Reservedele

DC AirCube 500

42692

\NSTRUKTION
\NSTR\JC“ON
BETRIEBS

AT 94178-C
Svenska
Artnr Benamning Art nr Benamning
41517 Uttag 42700 Vingmutter M6, plast, svart
42665 Utblasningsstos 42713 Flakt 115 V
42666 Insugsgaller 42749 Spannlas )
42689 Handtag 44046 Lampinsats led réd 110-250 V
42690 Forfilter 4586-1 Strémomkopplare
42691 Flakt 240 V 4829 Kondensator 400 V 4 pF
42692 Mikrofilter 48810-1 Strombrytare aircube vit
42697 Fot PVC 80461 Mikroswitch
94178-C  Bruksanvisning i original DC AirCube

DC AirCube - 77

Part No 94178-C



Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios  Varaosat
Reserveonderdelen Piece detachees Reservedeler Reser-

vedele

DC AirCube 500

Part No Description

41517 Socket

42665 Exhaust flange

42666 Protection grill

42689 Handle

42690 Prefilter

42691 Fan 240V

42692 HEPA filter

42697 Foot for housing

42700 Wing nut M6, plastic, black

Art. Nr. Benennung

41517 Steckdose

42665 Ausblasflansche

42666 Ansauggitter

42689 Handgriff

42690 Vorfilter

42691 Geblase 240 V

42692 Mikrofilter

42697 Gummifuly

42700 Flugelmutter M6, plast, schwarz

Part n° Description

41517 Retrait

42665 Collerette de sortie

42666 Grille de protection

42689 Barre poignée

42690 Filtre d’entrée

42691 Ventilateur 240 V

42692 Microfiltre HEPA

42697 Pieds pour capot

42700 Papillon M6, plastique, noir

Artikelnummer Omschrijving

41517 Stopcontact

42665 Uitlaat verloop

42666 Beschermrooster

42689 Handvat

42690 Voor filter

42691 Ventilator 240 V

42692 HEPA filter

42697 Rubber voet voor behuizing
42700 Vleugelmoer M6, plastic, zwart

2016-04-04

English

Part No Description

42713 Fan 115V

42749 Fastener

44046 Indication light led red 110-250 V

4586-1 Switch, speed

4829 Condenser 400 V 4 yF

488101 Switch aircube white

80461 Micro Switch

94178-C  Original instructions DC AirCube
Deutsch

Art. Nr. Benennung

42713 Geblase 115V

42749 Spannschloss

44046 Gehause fir Lampe Led Rot 110-250 V
4586-1 Stufenschalter

4829 Kondensator 400 V 4uF

488101 Schalter aircube weiss

80461 Micro Switch

94178-C  Originalbetriebsanleitung DC AirCube

Francais
Part n° Description
42713 Ventilateur 115 V
42749 Verrou de tension
44046 Voyant led rouge 110-250 V
4586-1 Connecteur
4829 Condensateur 400 V 4 pF
48810-1 Interrupteur aircube blanc
80461 Micro-interrupteur
94178-C  Notice originale DC AirCube
Nederlands
Artikelnummer Omschrijving

42713 Ventilator 115 V

42749 Aanscherping

44046 Lampje geleid rood 110-250 V

4586-1 2 standen schakelaar

4829 Condensator 400 V 4 yF

488101 Aan/uit schakelaar

80461 Micro Switch

94178-C  Oorspronkelijke grebruiksaanwijzingg
DC AirCube

DC AirCube - 78 Part No 94178-C



Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios  Varaosat
Reserveonderdelen Piece detachees Reservedeler Reser-

vedele

DC AirCube 500

Art nr Betegnelse

41517 Uttak
42665 Utblasningsstuss
42666 Innsugsgitter

42689 Handtak

42690 Forfilter

42691 Vifte 240 V

42692 Mikrofilter

42697 Fot PVC

42700 Vingemutter M6, plast, svart

Art nro Nimike

41517 Pistoke
42665 Ulospuhallusyhde
42666 Imusaleikkd

42689 Kantokahva

42690 Esisuodatin

42691 Puhallin 240 V

42692 HEPA-suodatin

42697 Jalka PVC

42700 Siipimutteri M6, muovi, musta

Referencia Descripcion

41517 Enchufe

42665 Brida de escape

42666 Malla de proteccion

42689 Manejar

42690 Prefiltro

42691 Ventilador 240 V

42692 HEPA Filtro

42697 Pie para la vivienda

42700 Tuerca de mariposa M6, plastico, negro

Art nr. Benavnelse

41517 Udtag

42665 Udblaesningsstuds

42666 Indsugningsgitter

42689 Handtag

42690 Forfilter

42691 Ventilator 240 V

42692 Mikrofilter

42697 Fod PVC

42700 Vingeskrue M6, plastic, sort

Norsk

Art nr Betegnelse

42713 Vifte 115V

42749 Spennlas

44046 Indikatorlys ledet rgd 110-250 V
4586-1 Strembryter

4829 Kondensator 400 V 4 pF

48810-1 Strembryter aircube vit

80461 Mikroswitch

94178-C  Original brugsanvisning DC AirCube

Suomi

Art nro Nimike

42713 Puhallin 115V

42749 Kiristyssalpa

44046 Merkkivalo johti punainen 110-250 V
4586-1 Katkaisija, kierrosnopeus

4829 Kondensaattori 400 V 4 pF

488101 Kytkin aircube valkoinen

80461 Mikrokatkaisija

94178-C  Kayttdohje, alkuperainen DC AirCube

Espaniol
Referencia Descripcion
42713 Ventilador 115 V
42749 Cierre
44046 La luz indicadora de color rojo llevo

110-250 V
4586-1 Switch, Velocidad
4829 Condensador 400 V 4 uF
488101 Interruptor aircube blanco
80461 Micro Switch
94178-C  Manual original DC AirCube
Dansk

Art nr. Benavnelse

42713 Ventilator 115 V

42749 Spaendelas

44046 Indikator lys farte red 110-250 V
4586-1 Omskifter

4829 Kondensator 400 V 4 pF

488101 Strgmafbryder aircube hvid

80461 Mikroswitch

94178-C  Original brugsanvisning DC AirCube

DC AirCube - 79 Part No 94178-C



